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ROFEZLEGE S,
@D 3x+4x @ 2y—8y

@ —6a+10a @ —7b—5b

ROFEZELEGESL,
@ x+3+5x—9 @ —4y+11-2y-—-7

@ 8a+1—9a—-1 @ —-2b—6+2b—4

ROHEELEE L,
® (x+4)+(5x—-2) @ (y—=8)+(=3y+1)

® (7Ta—5)—(4a+6) @ (1—9b)—(3—100)
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® 7x @ —6y ® 4da @ —12b
i
XFOEMAMNRLCIEIX, £FEHIZIENTED,
x+4x=3+4)x="Tx
2y—8y=(2—-8)y=—6y
—6a+10a=(—6+10)a=4a
—7b—5b=(—7—5b=—12b
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6x—6 @ —6y+4 ® -—a @ -10
R

XFOEHAMNRLCIEIL, FEHIZIENTES,
2+3+5x—9=(14+5x+3—9=6x—6
—4y+11-2y—7T=(—4—-2)y+11-7T=—6y+4
8a+1—9a—-1=8—-9)a+1—-1=—a
—2b—64+2b—4=(—-24+2bp—-6—4=—-10
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@D 6x+2 @ —2y-7 @ 3a—11 @ b-2

IRKXDMEIE, XFOBANRLIEBEBES L, BOBEES LEZTNENMA S,

IRKXDFEIE, OKESORXRDODEEOFEEZEATMA 5,

@D (x+4)+05x—2)=x+4+5x—2=(1+5)x+4—2=6x+2

@ (y—8)+(—3y+1)=y—8—-3y+1=(1-3)y—8+1=—-2y—7

® (7Ta—5)—(4a+6)=7a—5+(—4a—6)=Ta—5—4a—6
=(7T—4)a—5—-6=3a—11

@ (1-9)—(3—-100)=1—-96+(—3+106)=1—96—3+10b
=(—9+100+1—-3=0b—-2



